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1 NTo [£3] INT +2 150 [£3] INT -1 -50 5
2 2] ¢ 1t 3H = 140 x 2S +1 -140 V4
3 panyiic] [£3] 4S +1 450 [£3] 4S = 420 1
4 =] 1t 3H -1 -100 1t 3H = 140 6
5 2] ¢ 1t 6H = 1430 1t 5H = 650 13
6 panyiic] Jris] 2S -1 100 [ri] 2S +1 -140 6
7 =] x 3SNT +1 -630 [ri] 3SNT +1 -630
8 NTo x 3NT = -400 [ri] 3NT = -400
9 panyiic] [£3] 4H -1 -50 [£3] 3NT = 400 10
10 | B x 3NT = -600 x 3SNT +1 -630 1
11 | XN [£3] 3NT -2 -100 it 5C -3 -150 2
12 | @it Jris] 1D -2 100 [ri] INT -2 100
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2 2] ¢ x 5C -2 100 x 2C +1 -110 5
3 panyiic] Jris] 2Dx -4 1100 1t 3SNT +2 460 12
4 =] 1t 2S -1 -100 [ri] 3H -2 200 7
5 2] ¢ [£3] 3NT = 600 [£3] 3NT = 600
6 panyiic] [£3] 3H -3 -150 x INT = -90 2
7 =] [£3] 3NT -1 -100 x 4S -3 300 9
8 NTo Jris] 3NT = -400 [ri] 3SNT +1 -430 1
9 panyiic] 1t 3S = 140 x 3H = -140 7
10 | B 1t 3D = 110 1t 3D +1 130 1
11 | XN Jris] 2NT = -120 [ri] 4S = -420 7
12 | @it 1t ANT +1 660 5| 5S +1 680 1
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GEERE I MERT Y. 5+ 33 | 20
XINH/GKER FLKIE/RINGE Aait 33 20
BBE/IRYT BN/ DR V.P. 13.97 | 6.03
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3 panyiic] Jris] 3S = -140 1t 4C -1 -50 3
4 =] [£3] 3S = 140 [£3] 4S -1 -100 6
5 2] ¢ [£3] 4S = 620 1t 2H = 110 11
6 panyiic] Jris] 2NT +1 -150 1t 4Sx -3 -500 8
7 =] 1t 3H +1 170 5| 3H +1 170
8 NTo x 3NT 50 [ri] 3NT -1 50
9 panyiic] x 3D -4 400 [ri] 3NT = -600 14
10 | B 1t 3SNT +1 630 5| 4H -1 -100 12
11 | XN Jris] 3NT -2 100 [ri] 3NT -1 50 2
12 | @it 1t 3NT = 600 5| 3SNT +1 630 1
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5 2] ¢ Jris] 4S = -420 x 3NT = -400 1
6 panyiic] [£3] INT -2 -100 it INT = 90 5
7 =] Jris] 5C = -600 [ri] 5C = -600
8 NTo x 3H -2 100 [£3] 3C = 110
9 panyiic] Jris] 4S +2 -680 [£3] 5Cx -4 -800 3
10 | B 1t 3NT +2 660 it 3NT +3 690 1
11 | XN 1t 5Hx = 650 x 4S -3 150 11
12 | @it Jris] 2NT = -120 [ri] 2NT -1 50 5
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HFESPARK PRigiax r. 3+ 19 | 26
FF/EREE FEES/BRE ait 19 | 26
M/ 23 ENBE/ABFT V.P. 7.69 | 12.31
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1 NTo x 3SNT +1 -430 x 3SNT +1 -430
2 2] ¢ Jris] 4S -2 100 [ri] 3S -1 50 2
3 panyiic] 1t 4Sx -3 -500 [ri] 5H = -650 4
4 =] 1t 4H +2 680 1t 4H +1 650
5 2] ¢ 1t 2C = 90 1t 3NT = 600 11
6 panyiic] x 3SNT +1 -630 x 3SNT +2 -660 1
7 =] [£3] 4S = 620 1t 4S = 620
8 TS 1t 3C +2 150 it 4C = 130 1
9 panyiic] 1t 3NT -1 -50 it 2S +1 140 5
10 | B Jris] 2H +1 -140 [ri] INT +2 -150
11 | XN Jris] 4S +1 -450 [ri] 4S +1 -450
12 | @it x 5Cx -3 500 it 4S +1 650 4
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1 NTo Jris] 3NT = -400 [ri] 3NT -1 50 10
2 2] [£3] 4S +2 680 [£3] 6S = 1430 13
3 panyiic] 1t 4Sx +1 690 1t 4S +1 450 6
4 =] x 4H = -620 1t INT -1 -100 11
5 [fdb] 1t 4H = 620 it 4H = 620
6 panyiic] [£3] 5Hx -2 -300 x 4S -1 100 9
7 =] [£3] 2H -2 -200 x 2S -1 100 7
8 NTo 1t 3H -2 -100 [ri] 4Cx = -510 9
9 panyiic] x 3D = -110 [£3] 2S -1 -50 2
10 | B 1t 3NT -1 -100 [£3] 3SNT +4 720 13
11 | XN Jris] 4S = -420 x 2H = -110 7
12 | @it 1t 4S = 620 5| 4S = 620
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2 2] x 6SX 2 300 [£3] 6NT -6 -600 14
3 panyiic] Jris] 3NT 1 100 [ri] 4H = -620 12
4 |wa|l ®m | 2o | = | 90 | & | anT | = | 90 5
5 2] x 3NT = 400 x 2NT +1 -150 6
6 panyiic] 1t 4H -2 -100 it 4H -2 -100
7 =] [£3] 3NT = 600 [£3] 3NT -2 -200 13
8 NTo Jris] 3SNT +1 -430 [ri] 3SNT = -400 1
9 panyiic] x INT +1 -120 [£3] INT = 90 5
10 | B [£3] 2S +3 200 [£3] 4S +2 680 10
11 | XN x INT -1 50 x INT = -90 4
12 | @it 1t 3NT = 600 [£3] 4S -1 -100 12
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2 2] ¢ Jris] 4H +1 -450 [ri] 4H +1 -450
3 panyiic] x 4H -2 200 x 4H = -620 13
4 =] 1t 2H +1 140 [ri] INT +1 -120 6
5 2] ¢ [£3] 4S = 620 [£3] 4S +1 650 1
6 panyiic] [£3] 4H +1 450 1t 6D = 920 10
7 =] 1t 4S = 620 1t 4S = 620
8 NTo x 6C = -920 x 6C = -920
9 panyiic] Jris] 6S = -1430 x 4S +2 -680 13
10 | B 1t 4H -1 -100 1t 4H -1 -100
11 | XN [£3] 3C +1 130 [£3] 3C +1 130
12 | @it x 3NT = -400 x 3NT = -400
DATUM& it L
REIZH Je &= FR Y. 5+ 19 | 28
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2 2] ¢ x 2S +2 -170 x 2S = -110 2
3 panyiic] x 3SNT +2 -660 x 3SNT +3 -690 1
4 =] Jris] 3Dx -2 500 [ri] 5Sx -4 1100 12
5 2] ¢ Jris] 3SNT +2 -460 [ri] 3SNT +2 -460
6 panyiic] Jris] 2HXx -2 500 [ri] 2HXx -1 200 7
7 =] [£3] 4H +1 650 [£3] 3H +1 170 10
8 NTo x 3NT = -400 [ri] 6S -3 150 11
9 panyiic] x 3NT -2 200 [ri] 4S +1 -650 13
10 | B 1t 4S = 620 5| 5S = 650 1
11 | XN x 1S +4 -200 x 2S +1 -140 2
12 | @it x 3NT -1 50 [£3] 2Dx -2 -500 11
DATUM& it L
I HETHR BEEMER Y. 5+ 42 | 28
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2 2] ¢ [£3] 2H +1 140 [£3] 3H -1 -100 6
3 panyiic] x 4H +2 -680 x 4H = -620 2
4 =] 1t 3SNT +2 660 it 6D = 1370 12
5 2] ¢ 1t 4C = 130 [£3] 3C +1 130
6 panyiic] [£3] 4S = 420 [ri] 5C -1 100 8
7 =] x 3NT -1 100 [ri] 5C -2 200 3
8 NTo 1t 2NT -1 -50 [ri] 3C = -110 2
9 panyiic] x 4H +1 -650 x 4H = -620 1
10 | B [£3] 3C = 110 [ri] 2S +1 -140 6
11 | XN 1t INT -1 -50 5| 1Sx -1 -100 2
12 | @it Jris] 4H +1 -450 [ri] 3SNT +2 -460
DATUM& it L
iRHIIZZRA ZZRkPA Y. 5+ 24 | 18
AELIE/FR= LZEk/ Tk ait 24 | 18
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4 =] 1t 4Sx = 790 [£3] 2S +2 170 12
5 2] ¢ [£3] 3NT = 600 it 3NT +1 630 1
6 panyiic] x 4S = -620 x 4S = -620
7 =] [£3] INT = 90 [£3] INT +1 120 1
8 NTo x 2H +1 -140 [ri] 3NT = -400 6
9 panyiic] Jris] 3S -1 100 [ri] 4S = -620 12
10 | B x 3NT +2 -660 x 3NT +1 -630
11 | XN [£3] 2NT -1 -50 [£3] INT = 90 4
12 | @it x 2NT = -120 [ri] 2NT -1 50
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